
















Q. Six person are sitting in circle facing towards the centre. Parikh

is sitting between Babita and Narendra. Asha is sitting between

Chitra and Pankaj. Chitra is to the immediate right of Babita. Who

is to the immediate right of Babita?
छः व्यक्तिकें द्र कीओर मुख करके वृत्त में बैठे हैं। पाररख़, बबबता और नरेंद्र

के बीच में बैठा है। आशा, बचत्रा और पंकज के बीच में बैठी है। बचत्रा, बबबता
के तत्काल दायेओर है। बबबता के तत्काल दायी ंतरफकौन है?

(A) Pankaj (B) Parikh

(C) Narendra (D) Chitra



Q- What is the angle between the minute hand and the hour hand of a
clock when the time is 9:30?

Q-समय 9:30 पर ममनटऔर घड़ी के घंटे के ब़ीच का कोणक्याहोगा ?
(1) 100˚ (2) 90 ˚ (3)105 ˚ (4)None of these



Find the triangle :-

(A) 18
(B) 24
(C) 20 
(D) 22
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Find the ODD ONE (?)

(A) 150 , 14

(B) 625 , 25

(C) 4 , 2
(D) 1 , 1
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Find the option which should replace (?)

DK : 30 :: FN : ?

(A) 30

(B) 25

(C) 28
(D) 40
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Q. From the four positions of a dice given below, find the 

colour which is opposite to Violet ?

(A) Red (B) Yellow
(C) Blue (D) White

ORANGE BLUE

VOILET

YELLOW

ORANGE RED
C
White

RED



Find the option which should replace (?)

0200, 1202 , 2204 , 3309 , ? 

(A) 4409

(B) 1510

(C) 4520
(D) 4316



Find the option which should replace (?)

Garage : Motorcar ::  Airplane : ?
गैराज: मोटरकार :: हवाई जहाज:?

A. Haunt /अड्डा
B. Workshop / काययशाला
C. Hanger / हैंगर
D. Dock /गोदी



Q.. Statement :

All Carrots are birds.

Some telephones are Carrots. 

All bedsheets are telephone.

Conclusions : 

(I) Some birds are telephone

(II) All telephone are birds

EXAMPLE

प्र.. कथन :

सभ़ी गाजर पक्ष़ी हैं।

कुछ टेल़ीफोन गाजर हैं।

सभ़ी चादरे टेल़ीफोन हैं।

मनष्कर्ष:

(I) कुछ पक्ष़ी टेल़ीफोन हैं

(II) सभ़ी टेल़ीफोन पक्ष़ी हैं



Q.. Statement :

All Carrots are birds.

Some telephones are Carrots. 

All bedsheets are telephone.

Conclusions : 

(I) Some birds are telephone

(II) All telephone are birds

EXAMPLE



Find the option which should replace (?)

CADE : 9116125 :: BEAL : ?

(A) 41251144

(B) 41125144

(C) 641125144
(D) 12511444
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Find the option which should replace (?)

12 : ? :: 9 : 15

(A) 10

(B) 20

(C) 17
(D) 22
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Find the ODD ONE (?)

(A) 7 : 23

(B) 8 : 26

(C) 10 : 30
(D) 9 : 29
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